Tower Blind

ASSEMBLY
INSTRUCTIONS

8

=

Tower Blin

4!

Ground Blind

R
A
3337

£ o

T

A
T
969

A

U
C
com * 800

N
v
D

Y
ra wi
TexasHunter



R ] N

th

"&’ TRUETIMBER® CAMO
ALUMINUM EXTERIOR

Every detail designed

for your comfort

RIFLE
WINDOWS

BOW
WINDOWS

COMBO
BOW & RIFLE
WINDOWS

CAMERA
MOUNT

FULL DOOR i i 3 CUP
WITH FULL-HEIGHT HANDRAILS ' HOLDERS

PR Ty A FRETE = T, e i

HIDE-A-WAY vLrrA-quier INTERIOR
INTERIOR:

FULLY-CARPETED WALLS AND
CEILING FOR YOUR COMFORT
AND WARMTH, PROVIDES
ADDED IMSULATION WITH
SOUND AND SCENT BARRIER.
EXTREMELY DURABLE AND
- 3 DESIGNED TO STAND UFP TO
VERTICAL BOW WINDOWS HEAVY USE. ROOMY AND

AVAILABLE AS AN OPTION SPACIOUS INTERIOR,

e




SN A g . TRUETIMBER'®
FLIP-OPEN HIDE-A-WAY SAMO
WINDOWS

SILENT SLIDING
L, CONCEALMENT PANELS

RAIN
GUARDS

SWIVEL SWIVEL SHOOTING REST

SUPPORT FOR ACCURATE SHOTS
SHOOTING
REST

SHOOTERS
SHELF

FULLY ;
iy CARPETED UNIVERSAL CAMERA MOUNT
e A 'J At 4 . CEILING 10 MOUNTING LOCATIONS
RIGID A g R & WALLS
STEEL FRAME | SRR wan TR e

CONSTRUCTION YA gy A 300 PLASTIC BOTTLES

4 - | O : ! F:E':"r'ELIED FOR THE CARPET

‘m’ k \‘.r \‘ f s el % IN EVERY WRANGLER BLIND
=T ‘Qi,f Ny

. \“ \\ SHOOTERS SHELF WITH ACCESSORIES

INCLUDES?

3 CUFP HOLDERS
SWIVEL SHOOTING REST

CAMERA & PHONE MOUNT



TEXAS HUNTER

PRODUTCTS

To assist with your Blind set up,
we recommend the use of a
Tractor with Pallet Forks or a

Variable Reach Forklift.

| “THANK YOU  *

for.choosing a

Texas Hunter

4 @ Copyright 2024, Texas Hunter Products « Questions? Call 800.969.3337  www.TexasHunter.com



Models G7 Gun / G7 Combo-XL
Hunting Blind
With Ground Legs

aNITE ONNOYI

(J) Foot

Step 1: Attach the (J) Feet that came with your Blind
as shown.

Step 2: IMPORTANT: User is responsible for [ _
proper assembly, setup and anchoring. :

Q N (J) Foot

See Back Cover for
- Tie Down Instructions

\_\

@ Copyright 2024, Texas Hunter Products + Questions? Call 800.969.3337 = www.TexasHunter.com 5



o
e

e . T
. e j

[

ST

e
==
———

——

o

= = B

& Copyright 2024, Texas Hunter Products » Questions? Call 800.969.3337 + www.TexasHunter.com



Models G7 Gun / G7 Combo-XL
Hunting Blind
With 4 Ft. Tower

e
-
=
[
=
==
—
—
=
| —

Wy
1 A/ ').*
X7

THERY/
-
/| -~
! 'i

G7 Gun 4 Blind

© Copyright 2024, Texas Hunter Products « Questions? Call 800.969.3337 « www.TexasHunter.com 7



* Models G7 Gun / G7 Combo-XL
TEXAS HUNTER._ Vodets 67 Gun /G Combo

PRODUTCTS With 4 Ft. Tower

FOR MODEL 4TOCT - 4 FT. TOWER / WRANGLER BLIND

QUANTITY PART NAME DESCRIPTION
4 4TL 2" Angle Legs
2 N 4 1” Angle Horizontal Braces (End)
2 NS 4 OB 1” Angle Horizontal Braces (Side)
2 04 1” Angle Diagonal Braces (End)
2 0S 4 0B 1” Angle Diagonal Braces (Side)
36 Bolt 516" x 3/4” Bolt
36 Lock Washer 5/16" Split Lock Washer
36 Nut 5/16" Hex Nut

IMPORTANT! User is responsible for proper assembly, setup and anchoring.

To assist with your Blind set up, we recommend
the use of a Variable Reach Forklift
or Tractor with Pallet Forks

%b MODEL 4TOCT

8 & Copyright 2024, Texas Hunter Products « Questions? Call 800.969.3337 « www.TexasHunter.com



Models G7 Gun / G7 Combo-XL
Hunting Blind
With 4 Ft. Tower

PART ORIENTATION - QUICK REFERENCE

-
-
=]
=
™
=
-
=
=
o ] =
- s O o e )
Leg Hole 6: Blind Leg
Blind Leg top hole & * L
Diagonal BraV
Leg Hole 5: . -
Blind Leg
Bottom Hole
Leg Hole 4:
Not Used
Leg Hole 2:
Horizontal Bracing : : .
Diagonal Brace should be
Leg Hole 1: installed as shown on each
Foot = side of the tower. It should :
angle from the lower right
corner to the upper left \
corner.
(V) Foot
Leg Hole 3:

Diagonal Brace

@ Copyright 2024, Texas Hunter Products + Questions? Call 800.969.3337 = www.TexasHunter.com 4



* Models G7 Gun/ G7 Combo-XL
TEXAS HUNTER_ " . fina gina "

PRODUTCTS With 4 Ft. Tower

ASSEMBLY INSTRUCTIONS - 4 FT. TOWER / WRANGLER BLIND

Notes: Install split lock washers under nuts.
Do not tighten any bolts in the Tower assembly until all bolts are installed.

Step 1: Raise Blind using Forklift or Tractor.

Step 2: Attach the (4TL) Legs to the Blind Assembly. (Figure 1)

Figure 1

10 & Copyright 2024, Texas Hunter Products « Questions? Call 800.969.3337 « www.TexasHunter.com



Models G7 Gun / G7 Combo-XL
Hunting Blind
With 4 Ft. Tower

Step 3: Install the Horizontal Bracing as shown for support. (Figure 2)

Step 4: Install the Diagonal Bracing as shown. (Figure 3)

Step 5: Attach the (J) Feet that came with your Blind as shown. (Figure 3)

Step 6: Tighten all bolts & nuts securely before lowering Blind into desired position.

Step 7: IMPORTANT: After placing the blind/tower into position, it must be anchored.

Figure 2

” | [ Figure 3

RSN e e

=

=
-
=
=
™
= -
=
=
=
| —

e

See Back Cover for : :
o Tie Down Instructions 04 /

J

@ Copyright 2024, Texas Hunter Products + Questions? Call 800.969.3337 = www.TexasHunter.com ik



TEXAS H

o

PRODUTCTS

R\ Hunting Blind
With 4 Ft. Tower

FOR MODEL FDS 4 - 4 FT. STAIR ASSEMBLY

QUANTITY PART NAME DESCRIPTION

2 Bolt A 5/8" x 2.25" L Bolt

2 Lock Nut A 5/8" Nylon Insert Lock Nut

2 Lock Washer A 5/8" Split Lock Washer

2 Spacer Bushing A |.88" O.D. x 1.25" L Spacer Bushing
2 Bolt B 5/16" x 1.00" L Bolt
10 Lock Washer B 516" Split Lock Washer
10 Lock Nut B 516" Keps Lock Nut

8 Bolt C 516" x 1.75" L Bolt

2 STAIR BRKT Mount Brackets

2 STAIR RAILS 4 Handrails

1 STAIRS 4 Stair Assembly

12

oy
i
//

| Mount Bracket |

IMPORTANT! User is responsible for proper assembly, setup and anchoring.

& Copyright 2024, Texas Hunter Products « Questions? Call 800.969.3337 « www.TexasHunter.com

Models G7 Gun / G7 Combo-XL




Models G7 Gun / G7 Combo-XL
Hunting Blind
With 4 Ft. Tower

Step 1: Attach both Mount Brackets to the top of the Stair Assembly using Bolt A, Lock
Nut A, Lock Washer A, and Spacer Bushing A. Do not tighten this hardware all the way
until after the handrails are installed in Step 3. (Figure 1)

Spacer Bushing A

Mount Bracket /

| Bolt A |

Figure 1 7

| Lock NutA || Lock WasherA |

@ Copyright 2024, Texas Hunter Products + Questions? Call 800.969.3337 = www.TexasHunter.com 13

=
-
=
=
™
= -
=
=
=
| —




TEXAS HUNTER_ bese= i oin/cr camsors
PR ODUCT S  With 4 Ft. Tower

Step 2: Attach both sides of the Stair Assembly with Mount Brackets to the blind’s
Mounting Flange (located under the door) using Bolt B, Lock Washer B, and Lock Nut B.

Tighten the following hardware securely. (Figure 2)

-

[Muunting Flangﬁl

Mounting Bracket

\Y \LJ

Figure 2
os

AY
| Lock Washer B | | Lock Nut B |

14  Copyright 2024, Texas Hunter Products » Questions? Call 800.969.3337 + www.TexasHunter.com



Models G7 Gun / G7 Combo-XL
Hunting Blind
With 4 Ft. Tower

Step 5: Attach both Handrails to the upper and lower Mount Brackets in the Stair
Assembly using Bolt C, Lock Washer B, and Lock Nut B. Install (4) bolts per side. Note
that the lowest bolt on each side gets installed from the outside in. Tighten all hardware
securely. IMPORTANT: Go back and tighten Bolt A, Lock Washer A, and Lock Nut A
from Step 1. (Figure 3)

‘ 'l i i
' [Lock Nut B

_‘n /f \ ©

=
-
=
=
™
= -
=
=
=
| —

See Back Cover for
Tie Down Instructions

@ Copyright 2024, Texas Hunter Products + Questions? Call 800.969.3337 = www.TexasHunter.com 15



asHunter.com

57 Call 800.969.3337 » www.Tex

T R A 2 S
SRl S TS s TR M S TS s TN A s TS s A e
Iy S R s hiﬂ“w:wr,”umr
i = Lk [ . B .” .__.... 4 z..ﬁ.....
IR L SN
s e S

e |

=
2
=
w
[1H]
=
o
-
o
[+
=
=
=
o
—
&
=
=)
I
T
0
o
ot
=

o

S i B
S, WA SOt Pk R

o Copyright 2024,




Models G7 Gun / G7 Combo-XL
Hunting Blind
With 8 Ft. Tower

e«
-
z
™
-
-]
=
=
=

37 Gun 8 Blind

@ Copyright 2024, Texas Hunter Products + Questions? Call 800.969.3337 = www.TexasHunter.com 17



* Models G7 Gun / G7 Combo-XL
TEXAS HUNTER._ Vodets 67 Gun /G Combo

PRODUTCTS With 8 Ft. Tower

FOR MODEL 8TOCT - 8 FT. TOWER / WRANGLER BLIND

QUANTITY PART NAME DESCRIPTION
4 8TL 2" Angle Legs
2 M8 1” Angle Horizontal Braces (Lower Ends)
2 MS 8 OB 1” Angle Horizontal Braces (Lower Sides)
2 N 8 1” Angle Horizontal Braces (Upper Ends)
2 NS 8 OB 1” Angle Horizontal Braces (Upper Sides)
2 08 1” Angle Diagonal Braces (Ends)
2 0S8 0B 1” Angle Diagonal Braces (Sides)
48 Bolt 5/16" x 3/4” Bolt
48 Lock Washer 516" Split Lock Washer
48 Nut 5/16" Hex Nut

18

To assist with your Blind set up, we recommend
the use of a Variable Reach Forklift
or Tractor with Pallet Forks

MODEL 8TOCT

& Copyright 2024, Texas Hunter Products « Questions? Call 800.969.3337 » www.TexasHunter.com



Models G7 Gun / G7 Combo-XL
Hunting Blind
With 8 Ft. Tower

PART ORIENTATION - QUICK REFERENCE

Leg Hole 7:
Blind Leg top hole &
Diagonal Brace

Blind Leg

\ | Note: Bolt together
.\ the intersection of
| braces on all sides

Leg Hole 6:
Blind Leg
Bottom Hole

Leg Hole 5:
Not Used

NN

/ T N
Leg Hole 4:

Upper Horizontal

Brace Diagonal Brace should be
installed as shown on each
/ side; 0; the l%w?r. It shol.rl:d
. angle from the lower right
Leg Hole 2: .- corner to the upper left
Lower Horizontal COrner.
Brace
/ Leg Hole 3:
.| Diagonal Brace
Je =iy
[ \
I 1'} e r II" I"
Leg Hole 1: ———— > ]
Foot (J) Foot —

@ Copyright 2024, Texas Hunter Products + Questions? Call 800.969.3337 = www.TexasHunter.com 19

ONITa 4IMm01 8



* Models G7 Gun/ G7 Combo-XL
TEXAS HUNTER_ "> ¢ Sinaaina "

PRODUTCTS With 8 Ft. Tower

ASSEMBLY INSTRUCTIONS - 8 FT. TOWER / WRANGLER BLIND

Notes: Install split lock washers under nuts.
Do not tighten any bolts in the Tower assembly until all bolts are installed.

Step 1: Raise Blind using Forklift or Tractor.

Step 2: Attach the (8TL) Legs to the Blind Assembly. (Figure 1)

Figure 1

] I

8TL

20 & Copyright 2024, Texas Hunter Products « Questions? Call 800.969.3337 = www.TexasHunter.com



Models G7 Gun / G7 Combo-XL
Hunting Blind
With 8 Ft. Tower

Step 3: Install the Horizontal Bracing as shown for support. (Figure 2)

Step 4: Install the Diagonal Bracing as shown. Be sure to bolt the intersection where
Diagonal Bracing meets Upper Horizontal Bracing on all four sides. (Figure 3)

Step 5: Attach the (J) Feet that came with your Blind as shown. (Figure 3)
Step 6: Tighten all bolts & nuts securely before lowering Blind into desired position.

Step 7: IMPORTANT: After placing the blind/tower into position, it must be anchored.

Figure 2

IRIE!
L] L

e«
=
5
=
=
- -
[ —

MS 8 OB

A

See Back Cover for
= Tie Down Instructions

)

@ Copyright 2024, Texas Hunter Products + Questions? Call 800.969.3337 = www.TexasHunter.com

21



TEXAS H

PRODUCTS@

K\ Models G7 Gun / G7 Combo-XL

Hunting Blind
With 8 Ft. Tower

FOR MODEL FDS 8 - 8 FT. STAIR ASSEMBLY

QUANTITY PART NAME DESCRIPTION
2 Bolt A 5/8" x 2.25" L Bolt
2 Lock Nut A 5/8" Nylon Insert Lock Nut
2 Lock Washer A 5/8" Split Lock Washer
2 Spacer Bushing A |.88" O.D. x 1.25" L Spacer Bushing
6 Bolt D 1/2" x 1.25" L Bolt
6 Lock Washer C 1/2" Split Lock Washer
6 Nut C 1/2" Nut
16 Bolt C 516" x 1.75" L Bolt
18 Lock Washer B 5/16” Split Lock Washer
18 Lock Nut B 516" Keps Nut
2 Bolt B 5/M16" x 1.00" L Bolt
2 STAIR BRKT Mount Bracket
1 STAIR 4 Top Stair Assembly
1 STAIR 8 Bottorn Stair Assemlby
4 STAIR RAILS 4 & 8

Upper and Lower Handrails with Brackets

| Upper Handrail |\‘

[Handrail Bracket—— 1~/

Lower Handrail }/'

Note: Hardware bags are
located in both boxes.

Remove & review all
hardware before beginning.

22

-

VA

.;_'_,--
—

/ Mount Bracket |
=l

“ﬂimﬁ#
Wi -/, +——————— Top Stair Assembly |

Pl

JJ p ‘\l Bottom Stair ﬁESEmbiy |

i

 Copyright 2024, Texas Hunter Products » Questions? Call 800.969.3337 + www.TexasHunter.com




Models G7 Gun / G7 Combo-XL
Hunting Blind
With 8 Ft. Tower

Step 1: Attach both Mount Brackets to the top of the Top Stair Assembly using Bolt A,
Lock Nut A, Lock Washer A, and Spacer Bushing A. Do not tighten this hardware all the
way until after the upper handrails are installed in Step 5. (Figure 1)

Spacer Bushing A

e«
=
5
=
=
- -
[ —

Mount Bracket /

| Bolt A |

Figure 1 7

| Lock NutA || Lock WasherA |

@ Copyright 2024, Texas Hunter Products + Questions? Call 800.969.3337 = www.TexasHunter.com 23



* Models G7 Gun/ G7 Combo-XL
TEXAS HUNTER_ " ¢ fine aina ™

PR ODUTCTS With 8 Ft. Tower

Step 2: Attach the Top & Bottom Stair Assemblies together using Bolt D. Lock Washer C,
and Lock Nut C. Install (3) bolts per side. Note: the upper section of the Lower Handrail gets
installed at the same time. Tighten all the following hardware securely. (Figure 2)

Figure 2

24 & Copyright 2024, Texas Hunter Products « Questions? Call 800.969.3337 « www.TexasHunter.com



Models G7 Gun / G7 Combo-XL
Hunting Blind
With 8 Ft. Tower

Step 3: Attach the bottom of the Lower Handrails to the bottom of the Lower Stair Assembly
using Bolt C, Lock Washer B, and Lock Nut B. Install (2) bolts per side. Note that the lowest bolt on
each side is installed from the outside in. Tighten all the following hardware securely. (Figure 3)

| Lower Handrail |

Figure 3

@ Copyright 2024, Texas Hunter Products + Questions? Call 800.969.3337 = www.TexasHunter.com 25

e«
=
5
=
=
- -
[ —




TEXAS HUNTER_ ['o¢e's G cun o7 ComboXt
PR ODUCT S  With8 Ft. Tower

Step 4: Attach the Upper & Lower Stair Assemblies to the Mounting Flange on the blind
(located below the door) using Bolt B, Lock Washer B, and Lock Nut B. Install (1) bolt per
side. Tighten the following hardware securely. (Figure 4)

. | Mounting Flange |
LK
| Lock Nut B

Q -]
.‘ O 0 —

L [
H\‘H
L] L ] r"'
; K
| Lock Washer B | 1 ~
e L1 ¢ | s M
il -
I els [

Figure 4

26  Copyright 2024, Texas Hunter Products » Questions? Call 800.969.3337 + www.TexasHunter.com



Models G7 Gun / G7 Combo-XL
Hunting Blind
With 8 Ft. Tower

Step 5: Attach the Upper Handrails to the Top Stair Assembly using Bolt C, Lock Washer
B, and Lock Nut B. Install (4) bolts per side. Attach Handrail Brackets over gaps between
Upper and Lower Handrails using Bolt C, Lock Washer B, and Lock Nut B. Install (2) bolts
per side. Tighten all hardware securely. IMPORTANT: Go back and tighten Bolt A, Lock
Washer A, and Lock Nut A from Step 1. (Figure 5)

See Back Cover for
Tie Down Instructions

=)

@ Copyright 2024, Texas Hunter Products + Questions? Call 800.969.3337 = www.TexasHunter.com 2

e«
=
5
=
=
- -
[ —




TEXAS HUNTER\ Hunting Blind

PR ODUTCT § 7 Tie-Down Instructions

IMPORTANT! Please protect your investment by properly anchoring your blind.

Use a steel ground anchor system with a minimum of 1,000 Ib. rated cable and turnbuckle to secure
your blind. Only use anchoring equipment that is weather and corrosion resistant. Make sure the
blind is level before anchoring it to the ground. Ground blind models use one center steel ground
anchor cabled to the four legs. Note: Installation of the anchors, as explained in Steps 1-5 below,
should be done prior to standing the blind up.

1. Dig four holes, one just outside each tower leg 30 inches deep with a 6 inch diameter. For best
results use a post-hole digger to provide a deep, narrow hole.

2. Insert the steel ground anchor in the center of each hole with the auger end positioned at the
bottom of the hole. Note: The eye at the top of the ground anchor should be approximately 3
inches above the surface of the ground.

Fill each hole with concrete.

Straighten ground anchors to ensure that they are completely surrounded by concrete.

Let dry overnight.

L L

Attach the turnbuckle to the eye at the end of each ground anchor. At the opposite end of the
turnbuckle, loop the cable through the eye of the turnbuckle, and secure with double cable
clamps. See Figure 1.

7. Run one cable from each turnbuckle eye to the opposite upper corner of the tower and loop the
cable twice through the pre-drilled holes on the 7 inch legs. Secure with double cable clamps.
The cables should criss-cross. See Figure 2.

8. Adjust the turnbuckles to remove slack from cables.

/ Nole:
[Deruinbed for iablitg] lote:
Cabio Clamps - ),f Blind nal shown for clarily.
e Calie {f(( Tleg
i | = - IIII.‘ -r;
/| iy Center of tower leg
ST I.." // F, with pre-dilled hole
/ / = fe ) - for tie-down coble
; Tumngucide y | G "...:';{ = =y
> 'y / RN (Daubled for stabiity)
£ 4 fo J L s 7 Cabde Clamps
2 i o \t\
Cirgan | / -
Frcri g U NG
ey | .'I I S/ H"ﬁ £
f i/ Faal
jo / T
Y Coble
& Inch diama bl Bod C"ﬁluﬂ‘ﬁ :’-"-cl;:r . g \;«\
3D s s dap ambroded i Cemer \\!
',
A
\\}\
W,
“J
Figure 1 Figure 2

Viersion 0424

Thank you for choosing Texas Hunter Products
Questions? Call us at 800,969.3337

www.TexasHunter.com




